Name: ﬁ ) Per

Finding Medians, Altitudes, and L Bisectors
in order to find the Centroid, Orthocenter, and Circumcenter
Worksheet;

In exercise 1-7, use ARST with coordinates R(-6,-8),5(6,4), and T(-6,10).

1.) Plot points R, S, and T. b,l" .T Z'

2.) Find the equation of the median from R.
a.) Find the midpoint of ST, label it Z.
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b.) Find the slope of RZ. :

F-E_ 105
o-- z

¢.) Find the equation of the median from R.
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3.) Find the equation of the altitude from R.
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a.) Find the slope of o~y
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b.) Find the slope perpendicular to ﬁ.
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c.) Find the equation of the altitude from R.
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4.) Find the equation of the perpendicular bisector of ST.
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5.) Find the coordinates of the centroid of ARST . If you can find the centroid formula, you may use it.
Otherwise, you will need to find the equations of two medians and then find their intersection.
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6.) Find the coordinates of the circumcenter of ARST .

a.) Find the midpoint of R—S
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b.) Find the slope of E _.g..t.( - -l |
b-b -2

c.) Find the slope perpendicular to RS

d.) Find the equation of the perpendicular bisector.
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e.) Find the coordinates of the point of intersection of 4.) and 6(d) equations, which is the
coordinate of the circumcenter.
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7.) Find the equation of the Euler line. If you don't know what an Euler Line is, use the Internet to look it up.
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